Algebra 2







Name:  _____________________________
3.6 – Solving Systems by Graphing




Period:  _____
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in two variables can be solved 2. 4-25(x—6) =3+ 7X@ x=22~16s4 b 115+41f=06+32(—4) ~
il by e, i 5. Use substitution to find the point (x, y) where each pair of lines intersect. Use a
equations are in y- form, then they graph or table to verify your answer.
can also be solved algebraically C2+3G-17) y=023x+9 y=—15x+7
Ty Gt P T, b. { AR . {zy i

@
[Closing Question] “How might (4125, ~10.625) (-3.16,8.27) ‘They intersect at

5 every point; they
you solve a system of equations — are the same ling.
like this?”
> Reason and Apply
y=15+8x
—10x — 5y = —30 6. The equations s, = 18 + 0.4m and s, = 11.2 + 0.54m give the lengths of two

different springs in centimeters, s, and s,, as mass amounts in grams, m, are
Students might solve the second separately added to each. 6a. When you place 48.6 g on each spring, they will be the same length, 37.4 cm.
equation for y and then use sub- a. When are the springs the same length?
stitution. As appropriate, motivate b. When is one spring at least 10 cm longer than the other?
Lesson 3.7 by challenging, “Can c. Write a statement comparing the two springs.
you think of an easier way?”

7. APPLICATION This graph shows the Kangaroo Company’s production

ASSIGNING EXERCISES costs and revenue for its pogo sticks. Use the graph to estimate the 1000

answers to the questions below. :
Suggested Assignments: a. 1f 25 pogo sticks are sold, will the company earn a profit? Describe T
Standard 1-5,6,7,8,12,14 how you can use the graph to answer this question. @ $500 i
Enriched - . 1fthe company sells 200 pogo stcks, vl it eam a profit? If so, Coss

1,13 approximately how much? Yes. The profit is approximately $120. T
. <. How many pogo sticks must the company sell to break even? How
Types of Exercises: do you know?  About 120 pogo sticks. Look for the point where the ¥ umber ot mogosice
Basic 1-5 cost and income lines intersect. umber of pogo’
. 8. APPLICATION Winning times for men and women in the 1500-meter

Essential 2,52,6,7,8 Olympic speed skating event are given below, in minutes and seconds.
Portfolio 8 1500-Meter Olympic Speed Skating
Gmup 9,11 Year 1972 1976 1980 1984 1988 1992 1994 1998 2002 2006

&% 01 Chapter 3 Linear . -]



Graph each system to find the solution.
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7.  This graph shows the Kangaroo Company’s production costs and revenue for its pogo sticks.  Use the graph to estimate the answers to the questions below.

a.  25 pogo sticks are sold, will the company earn a profit? 
Describe how you can use the graph to answer this question.

b.  If the company sells 200 pogo sticks, will it earn a profit?

If so approximately how much?

c.  How many pogo sticks must the company sell to break

even?  How do you know?
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